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I.  Discussion: Correcting the size of the nan
a. if Height is greater than 20 — raise the floor level below to close the %9n to within 20
i.question: what length must be raised?
1. 907 7 nav
2. »7an 4 onav
a. Proposal: dispute - may one carry under the nmp (which is nav wide)
i.  Rejection: perhaps all agree that one may carry underneath
b.  Rather: is nmp a 7920 (9o 1) or a N¥Nn (M7aR)
i.  Rejection: perhaps all agree that it is a 19°n
c.  Rather: does 12°n on ground need to be bigger than 12’0 above (nav) or the same (qov ")
i.  Rejection: perhaps they agree that 12’0 below is like 12°n above
d. Disagreement: whether we have nvm that mound may be diminished >v™
b. If: height is less than v — must carve into floor to create air space of 10
i.901 27. carve width of v — minimum size of a nan
ii.»ax: carve width of X”1 — minimum size of a "an is 8™
1. Proposal: they disagree about whether to accept 'ox 31 'R *7’s ruling
a.  ~”1 &77. allow V"1 of a remaining wall to be considered »an
i.  7ax they only rule that way once a »an is established; they would agree that to set up — 8"t
2. Support (for »ax): Rn»11 — a nan can only be 1mn if it has multiple n’na and maxn opening into it
a. Cannot be: that it opened up on the middle wall
b.  9o» ’1 each 73N could open on the diagonal corner - still have v"7 of length of the nan
3. Support (for »ax): k10 "1 — a nY wider than 8™ is no longer a 'Y — it’s a »an (and requires a 2" nY)
a. 9o ‘1. to lose identity as "n%”, requires ®™1, but size of minimal nan is V™1
II. Revisiting 820 '7’s ruling — that a 'n% wider than ™ sticking out from the wall requires another 'n% to be 1nn
a.  Question: where is that second 5 placed?
b. Cannot be: that he adds to the same side — then he’s just making the (problematic) 'n% longer

i. 971 he places it on the opposite side of the nan, facing the extended m>
ii. 2737 71773 #1171 /7. could even be on same side as long as he makes it distinct (longer, shorter, etc.)
c. 717 12 #0177 7. this ruling only applies if nan is 8 wide (or more); if 7 wide, the "n5” that is 4, it is 1
i Reason: we have pyan 5y 1y nayn (there’s more wall than space)
ii. Inferred from 7¥r. if 93N, which cannot be “fixed” with nmp/nY, is permitted when 119 %» Tmy na1n

1. Then: certainly nan, which allows for nmp/mY, should be permitted with p1a 9y 11 n21IN
2. Break: 9¥n allows for a breach of up to 10 mny; »an only allows for a breach of r™7
a. Defense: he may hold that mwya »an nxa (like qxn)
d. wx “7 this ruling applies even if »an is exactly 8 mnx
i Reasoning: if m> < 4 —it’s a mY; if M5> 4 — p119 Yy TMY NMMN; if exactly 50% - 11277 pav - RNPY
II. 2v’s ruling re: status of »an with a breach in the wall
a. If: the breach is on the side — 10 mnx; if at the entry — r™

i. challenge: if we allow 10 on side as we consider it an opening, consider it an opening at entry (allow 10)
ii. answer (777 /1773 81177 77): if it opened on corner of »nan (N1 19p), where no one generally makes a nna
b. Dissent: k110 "1 — R"1 whether on side or entry — and he claimed that 27 agreed with him (poa in X1nnT)
i. N27 72 1211 77 271 was overly stringent with the people in X™nnT (no proof from that incident) they were lax
c.  Support for 817 1. dispute YR1mw/27 about a crooked nan
i 27 considers it w9an — requires 9”Mx on each side, or one at crook and nMp/ MY at each end
ii. SN1w. considers it DN — requires only nMp/ Mo

1. Observation: must be an opening of 10 (at crook) or less (else YR1nw wouldn’t regard as ninvo)
2. Yet: 11 considered it as w9190 (>N from the side is ®™7)
3. Block (2 37): that is a public throughway, unlike case of 'nx "y who allows a breach of 10 —
a. Reason: in that case, there were remains of the wall ("1'13) defined it as nng; keeps people out
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